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_ lkmiz 1ma> 1000 1&
[ i =aIROIOIOIN ] km DEMIE m IBEHLDLEE,
X1000 vHILLW
B EKRETS
[ Im=0.001 km ] Imi ko 1000 ) |
m OBEME km ISBENABLE,
X 0.001 #flt, + 1000 FHIEL

@ 5210m=(C 5 )km ( 210 ) m
5210(m)X0.001=5.21 km 5210(m)=1000=5.21 km

@ 4500m= (C 4 ) km ( 500 ) m
4500(m)X0.00 1=4.5kn  4500(m)= | 000=4.5 kn

® 786m= ( 0.786 ) km
786(m)*x0.001=0.786kn  786(m)=+1000=0.786 km

@ 9080m= ( 9.08 ) knm
7080(m)X0.001=9.08 km 9080(m)=+1000=9.08 km

® 9m= ( 0.009 ) km
9g(m)x0.001=0.009 km  9(m)=1000=0.009 km

® 41500m= ( 41.5 ) km
41500(m)x0.001=41.5kn  41500(m)+1000=41.5 km
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13.4km= (C 13 ) km ( 400 ) m

| 3.4(km)X 1 000=13400m

7.06km= ( 7 ) km ( 60
7.06(km)X 1000=7060m

0.029km= ( 29 ) m
0.029 (km)X 1000=29m

7.45km= ( 7450 ) m
7.45(km)X 1000=7450m

0.608kn= ( 608 ) m
0.608 (km)X | 000=608m

3.9kn= ( 3900 ) m
3.9(km)% 1 000=3900m
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:0.0lm= I em= 1 O mm

'0.001 m=0.1 cm= | mn
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X100 F¥HiLLwv
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X1000 ML\
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cm D¥EfIZEmm (CEIHNASLFE,
X 10 TELW

Kﬁﬁi%ﬂ(%@i’%

[ | m=0.001m ]

[ | Mm=0.1cm ]

[ lcm=0.0lm ]

\

ImmlE Im @ 1000 5D |
mm DHEME m ICBEENZLBLEID.
X 0.001 F£1E. + 1000 7L

lmmiE lemd 10 5D |
mm DEMI%Zcm ICBEHNABLEIL,
X 0.1 FfiE, + 10 ¥xuifLwv

lcmiz Im® 100 50|
cm NDHEME m IZBENZABEFIL,
X 0.0l FfE, + 100 ¥uiLL\W
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@D 6000mm= ( 6 ) m
6000 (mm)X0.00 | =6m

@ 900mm= ( 0.9 ) m
g00(mm)X0.001=0.9m

@ I.4m= ( 1400 ) mm
|.4(m)X | 000= 1 400 mn

@ 0.38m= ( 380 ) mm
0.38(m)X1000=380 mm

6000(mm)=+1000=6m

G00(mm)=1000=0.9m

16



Ikm=1000m=100000cm

[ 0.001 kn=1m=100cm
[ 0.00001 kn=0.01m=1 cm

Kﬁﬁi%d\i%?’%

[ 1km=1000m

(1 kn=100000c m|

[ Im=100cm

"

lkmiE Im o 1000 &
kn OBEMLEZ m ICBEH0ZBLEIL,
X1000 FHILLW
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km OBI%E cm ICBEEHNABL XD,
X 100000 ¥#ILL\

Imix lcm® 100 &
m O#EfIEcm ITEEHNZBL XL,
X 100 7L
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(1 ¢ m=0.00001 kn|

[ 1cm=0.0Im

)

[ Im=0.001 kn

)

\

lemld 1kma 100000 45 |
cm DEfI%E km ICBEEHNZBL =L,
X 0.00001 F7=lx. = 100000 FHULL

lemiz Im@ 100 90|
cm OBfIE m ICBENZBLF(L,
X 0.0l FE, =+ 100 ¥HuLL\v

Imi& 1kma> 1000 0 |
m OEMZkn ICEEHNZBLEIL,
X 0.001 F£Ix., + 1000 FHifLw
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@D 100000cm= ( | ) km
| 00000 (cm)X0.00001=1I km 100000(cm)-=100000=1 km

@ 72000 cm= ( 0.72 ) km
72000(cm)X0.00001=0.72 km
72000(cm)=+100000=0.72 km

@ 6km= ( 600000 ) cm
6(km)X100000=600000cm

@ 0.2km= ( 20000 ) cm
0.2(km)X 1 00000=20000cm
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